Secondary Math 3 Honors
Unit 4 Review - No Calculator
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Graph the following functions and find all of the critical information.
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3. Use the critical information to graph.

D: (-00, —2) U R
| | Yo |
Vix = 2,mult.2, some \ ,1 | !
x =—2mult.2 gqine V) ll
\
H: NONE \

S NWHBNDONDOO
.'_\

x: (-5,0) (5,0)
CYosS (Orose

//

-y — -

Y: (0, -4}

don St

Eiyesi®

[}
W

— e — —

F-:

Dbbid

|
I
I
)

l

7734 678910 7%

4.

Use the critical information to write the
equation in factored form.
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5. Simplify the rational expression.

6. @the rational expression.
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7. Use the graph to find all the critical information.
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